# **Apartment in Gozo - Xaghra**



#### Gozo - Xaghra, Gozo



€750

Total Rooms: 7

Bathrooms: 2

Reference No: 240031060-215

₽ Bedrooms: 3

Floor Area (m<sup>2</sup>): 100

# **Apartment - For Rent - Gozo - Xaghra**

Located in a very quiet alley in Xaghra, is this recently renovated APARTMENT which enjoys plenty of natural light. This property very spacious and comprises of an open plan kitchen / living and dining room which overlooks a good sized terrace with spectacular open country and distant sea views, also offers three bedrooms, one shower room and one main full guest bathroom with bathtub. Kitchen is fully equipped with a dishwasher and washing machine and property is fully airconditioned. The Premises is in a small block of 8 units and serviced by a lift. There is also an optional one car street level garage which is also available. Fantastic property

### **Features**

✓ Lift

Ceramic Floor

Water Utility

Skirting

Kitchen/Dinette

Entrance Hall

✓ A/C

Terrace

### Rooms

Living/Dining: 6.8 x 4.05 m (27.54 m2)

Kitchen: 2.6 x 2.8 m (7.27 m2)

Double Bedroom: 3.3 x 2.2 m (7.26 m2)

✓ Double Bedroom : 4 x 3 m (12 m2)

✓ Double Bedroom : 3.9 x 2.7 m (10.53 m2)

Bathroom: 3.3 x 1.8 m (5.93 m2)

Bathroom: 1.3 x 1.3 m (1.69 m2)

✓ Hall: 8.3 x 1.75 m (14.52 m2)

## **Gallery**































Margaret Buttigieg
RE/MAX Property Centre - Victoria

M: 79285808

E: margaret@remax.com.mt

T: 21566284

#### **RE/MAX Property Centre - Victoria**

11,Independence Square, Gozo - Victoria, Malta